Maytag DE606 03 - CONTROL PANEL & COMPONENTS (SER 00 & 01)

(MODEL DE-DG606

CONTROL PANEL & COMPONENTS)

211294
- — 311924
{ 3-11925
32472
311612 31404
311613
312074 - 310578
1 310768 ~%
2-11252
310579 —| ]
311550
. 3.2505
32805
m Or—
3.2471 311548
ORIGINAL-PRIOR TO 11-8-88

S 3.12273

213077 L

o<
210745 p
Ty 310376
211737

e
$
¢
g
~N

!

;

3-11550
A —
3-3250

312140 4-10381 35181

R 1

211294

311924

311825

3.3045
a4 |

33049 o768 -9
PRI 310759 ] 33042
e

312693

1 1

211294

3-3054

REVISED AFTER 17-8-68

3251

3.1467
i’-[‘lm
zrmz//- ‘ N
311540 3-11538 311842

s
52792

Maytag Residential Maytag DE606 Dryer Parts Parts Diagram 03 - CONTROL PANEL & COMPONENTS (SER 00 & 01

Item
1
2

w

S

12

13

14

Original Part Number

052690
052792
054157

204075

205198
205199
210745
211065
211168
211252

211286

211294

Click on the part number to view part

Status
Not Available

Replaced By

Not Available
Not Available

Not Available
Not Available

W10139210

Not Available

Not Available

Part Description

HEX. NUT, No.10-32
Screw, 1 1/4-20 X 5/16
SCREW, No.10-32 X 1/4

PILOT LAMP (DG MODELS
ONLY)

BRACKET KIT - LEFT HAND
BRACKET KIT - RIGHT HAND
Wire Terminal

Spring, Index Wheel

Screw, 8-18 X 5/16

Screw, Ground Wire

SCREW, HEX HD No.8 X 1/2
INCH

Screw, 8A X 3/8 HeX Washer
Head Tapping

Screw, HeX Head No.8 X 3/8
Inch

SCREW, No.6-20 X 3/8 INCH


http://www.pwslaundry.com/c-506043-residential-maytag-de606-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-10409252-maytag-052792-dryer-screw-1-1-4-20-x-5-16.html
http://www.pwslaundry.com/i-10409618-maytag-210745-washer-dryer-wire-terminal.html
http://www.pwslaundry.com/i-10412753-maytag-211065-washer-dryer-spring-index-wheel.html
http://www.pwslaundry.com/i-10412995-maytag-w10139210-washer-dryer-screw-8-18-x-5-16.html
http://www.pwslaundry.com/i-10412658-maytag-211252-washer-dryer-screw-ground-wire.html
http://www.pwslaundry.com/i-10412063-maytag-90767-washer-dryer-screw-8a-x-3-8-hex-washer-head-tapping.html
http://www.pwslaundry.com/i-10407833-maytag-211410-washer-dryer-screw-hex-head-no-8-x-3-8-inch.html

15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
31
33
34
35
36
37
38

39

40

41
42
43
44

45

46
47
48
49

50

51
52
53
54

55

56
57
58
59
60

61

62
63
64
65

211737
213077
213099
301464
301467
301542
302469
302471
302472
302505
302511
302524
Y302528
Y302543
302553
303040
303042
303043
Y303045
303049
303054
303110

Y 303250

Y303771

Y304080
305181
Y 310376
310578

310579

Y310759
310768

Y311538
Y311539

311540

Y311542
311546
311548
Y311550

311612

311613
Y311660
311924
311925
Y312057

312074

Y312140
Y312247
Y312260
312273

248562

W10339879

33302528

Y0303042

Y311711

Not Available

Not Available
Not Available
Not Available
Not Available
Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Not Available

Terminal

CAP FOR TIMER KNOB
Lens For Control Panel
BAFFLE FOR DRUM
SLIP RING

WIRE HARNESS FOR DRUM

HARNESS FOR SHROUD
HARNESS

Tie, Cable

HARNESS

HARNESS

BRACKET

Switch- CO

SPRING ASSEMBLY
SHAFT

Main Wire Harmess
Venturi TU

BAFFLE LEAD WIRE
Baffle Assembly
ELECTRONIC CONTROL
CONTROL HARNESS
TIMER DIAL

CAPACITOR 15.0
MICROFARADS

CHIME ACTUATOR
ASSEMBLY

Selection Dial, Sun-Glow
CAPACITOR

Clip, Door Switch Harness
WASHER

SCREW, No.10-24 X 11/16
INCH

Screw, Tumbler Baffles
WASHER

Carbon Brush Holder
Spring For Carbon Brush

COVER FOR CARBON
BRUSH

CARBON BRUSH

Wire Connector

Insulation Sleeve, 1-1/4 Inc
SPADE (MINIATURE)

COVER, CIRCUIT BOARD
TERMINALS

Screw, Fuse Block

Chime

CLAMP RETAINER
CLAMP FOR CAPACITOR
Screw

BRACKET F/ELECTRONIC
CONTRO

Wire Connector
Wire

LINK

Nut, Control Knob


http://www.pwslaundry.com/i-10415038-maytag-248562-washer-dryer-terminal.html
http://www.pwslaundry.com/i-10409615-maytag-213099-washer-dryer-lens-for-control-panel.html
http://www.pwslaundry.com/i-10413598-maytag-w10339879-washer-dryer-tie-cable.html
http://www.pwslaundry.com/i-10415219-maytag-33302528-dryer-switch-co.html
http://www.pwslaundry.com/i-10408725-maytag-303040-dryer-main-wire-harness.html
http://www.pwslaundry.com/i-10415817-maytag-y0303042-dryer-venturi-tu.html
http://www.pwslaundry.com/i-10408726-maytag-y303045-dryer-baffle-assembly.html
http://www.pwslaundry.com/i-10408727-maytag-y304080-dryer-selection-dial-sun-glow.html
http://www.pwslaundry.com/i-10412839-maytag-y310376-washer-dryer-clip-door-switch-harness.html
http://www.pwslaundry.com/i-10412841-maytag-y310759-washer-dryer-screw-tumbler-baffles.html
http://www.pwslaundry.com/i-10409276-maytag-y311538-dryer-carbon-brush-holder.html
http://www.pwslaundry.com/i-10409277-maytag-y311539-dryer-spring-for-carbon-brush.html
http://www.pwslaundry.com/i-10414208-maytag-911445-dryer-wire-connector.html
http://www.pwslaundry.com/i-10409278-maytag-311548-dryer-insulation-sleeve-1-1-4-inc.html
http://www.pwslaundry.com/i-10412692-maytag-y311711-washer-dryer-screw-fuse-block.html
http://www.pwslaundry.com/i-10408716-maytag-y311660-dryer-chime.html
http://www.pwslaundry.com/i-10414284-maytag-910624-washer-dryer-screw.html
http://www.pwslaundry.com/i-10409613-maytag-y312140-washer-dryer-wire-connector.html
http://www.pwslaundry.com/i-10408728-maytag-y312247-dryer-wire.html
http://www.pwslaundry.com/i-10412922-maytag-312273-washer-dryer-nut-control-knob.html

67 312282 Not Available PLATE

69 312693 Not Available BRACKET

71 Y313321 Chime Actuator

‘

73 410351 R T.

laundry company*

laundry company®

laundry company®



http://www.pwslaundry.com/i-10408729-maytag-y312280-dryer-bearing.html
http://www.pwslaundry.com/i-10409642-maytag-y312300-washer-dryer-groov-pin.html
http://www.pwslaundry.com/i-10410258-maytag-312852-dryer-selector-knob-clear-acrylic.html
http://www.pwslaundry.com/i-10408730-maytag-y313321-dryer-chime-actuator.html

	Maytag DE606 03 - CONTROL PANEL & COMPONENTS (SER 00 & 01)

